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We are concerned perhaps he appeased — ©D KRR 19N

OVERVIEW

%"1 ruled that when w" stated that 7%°22 onn 01°2 2021 it is a W vA that is limited
to that case only, however, if the 7201 took place ten days later it is not a w2 v,
because we are concerned 0™ ¥aw.' Our mpoIN qualifies when we are concerned
for 05 Xnw and when not.

mMooIn anticipates the following question:
099 NNIY 1PYWN NY INNDN INYNRD VI YIYYNIY D NITNHN DINAN PV MYPNY PN

And one cannot ask regarding °u; that come from overseas and by w3 wohwn
1nwr>,” why are we not concerned there that 97p x»w?”

mooIn replies:
- SNBP N9 9133 ©9NN 99 ‘onn) Y P2TYY 29 29V 192WINT NIN NINY

For only here (where it was 2031 and not anni) we are more concerned that he
will be appeased because the v) was not signed yet, and also when he is

appeased there is no publicity -
— *T110a7 75113 591 %3 DINNY MINN NIYYY 9N 53 199

And similarly the case which the X713 states shortly, where he told ten witnesses

to sign, and only two signed on that first day, in that case as well -
- 7N7‘P N2 99) D91 9 DINNY DIPIXN U3 NN RDT 110 ©1INNY 99X

It is usual for the husband to be appeased since all those that were required to

sign did not sign, and also when he appeases there is no »p -
—©9NNY 39 PN IN1Y 11T VI BITYN Y3 NN 939V YaN

! According to (Xnw 71"7) *"w1 the concern of 0™ X»w is that he was 77°°n» with her after the 07 n2°n>, which makes
it a 7> va. According to (Xnw 71"72) NM2OIN the concern is perhaps the husband was v2an the va.
WKy v whwn means he deposited the signed va by a third party (2°7wni) and instructed him not to give the 3 to
his wife until a certain time.
3 Perhaps in the duration between the giving of the v3 to the W or w9, and the woman receiving it, the husband
was 0*9n.
* If the va is not signed it is not finalized in the husband’s mind that he is divorcing her. He may reconsider.
° When the v3 is signed the 0¥ are X" a 91 that this woman is being divorced (even before she receives the v3).
When people notice them reconciling, there is a 237 and even if the v3 is produced later, it will be challenged,
because everyone is aware as to what happened. However, if the 0°7v did not sign, so people are not aware that there
is a divorce process, and they will make no note of the 019 (they will merely think this is their normal relationship),
so when the v is produced later, no one will comment.
% See bottom of this 7my. The xn) there asks how can it be 2w> according to %", there is the concern of 0 Xnw
[even though there two 0°7¥ signed already].
7 See footnote # 4 (& 5). The va is not finalized since it is as if no one signed.
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However, in the cases of "7 1PR27 1w and WNwRY 03 whwan where all the
witnesses signed the v» already and it is ready to be given to the wife, it is not

usual that he will be appeased -
—PYNINI YN DANM IMNY

And when he will retract and become appeased everyone is aware.®

nooIN asks:
— 5299 NV 9TWT NIND 23N (3,05 91 mp) VAN Yo 79927 NYp Yan

However there is a difficulty, for in w7 ®> P95 regarding the incident where a
person sent a ©a to his wife -
— 09 NAY YINI NTY 799 19999 1PNDN 1Y NN N%AN°N XY NIV 1D 919N
And he said to the m°>w, ‘do not give it to her until thirty days (from now), and
the X713 there asks on this, ‘and let us be concerned perhaps o2’ -
— WM 279 1Y JN91 YHNA KXY ON NIINN 199
And similarly the concern of 05 Xnw applies to that ;7aw» where a person says,
‘this is your ©3 if I do not come from now until twelve months’; seemingly in these

two cases the V3 was already signed and m»oIn just concluded that when the v is signed there is
no concern of 09 XKW —

mooIn cites how *"wA resolves (part of) this difficulty:9
— 1§59 NV YN1IY XI%Y D0 N1 ) NWaT ovw vwrse ©909P2)

And "2 there explains that by >''7172% va 797 there is no concern of o5 N»w
— UNp901I 1OV IPY XY NTOY D) ¥93D 9399 23NTH NYYYN Y¥AN N MNT
Because the husband assumes that the mv%2 preceded me, and the w3 is already

in her possession, and because of this doubt he will not uproot himself from his
place to be ©™on his wife. Mmoo acknowledges that this explanation resolves why there is no
concern of 075 RaWw by *"'7171n PRAT PO -
14 13 12
—"x9n41 Pyany 2395 00 Aup HInUNY 0y WIYYNRHN YaN

¥ See footnote # 5.
% >"p1 offers a different explanation why by *"77a 1Xa7 Pua there is no concern of 05 Xnw; not because the 3 is
already signed as N1o01n explained previously.
10 gy "7 2,00 77
""" According to *"wn we are always concerned for 05 Xnw (even if the v was signed), except where the mow left
already to deliver the v3. This explains why there is no concern of 55 Xaw by *"'77mn 1XIT PO
2 See footnote # 2.
1355 rules that even if the 13 was not signed until ten days it is still w3 (according to w").
'* In these two cases the m>w is not leaving before the husband why is there no concern of 05 Xnw (according to

. at is the difference between the two cases (in v | where we are or , an ;
*"w1). What is the diffi bet the t 0A7 92 P h wn for 09 RAW d vx whwnn
[and o' " 731 1801 according to *"'1] where we are not 08 Xnw w>'n. This question is on M2oIN (as well).
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However, there is still the difficulty from ynwx® ws we»wn»7 and from the view of
"9 here in our X3 —

mooIn offers his explanation why these is no concern of 0 X»w, in the (two) aforementioned

cases:
— DYN 7990 1998 Cya nny XINY YIYWNRNAT B 19539 AN

And it is the view of the n''9 that by w>>wnn, where the husband is with his wife

in the same city and he is not leaving from there so -
-0aNNY XYY 119 NP N9IYEY 01N NN AT YAIPY A1) YN DOV NNRNN RPNDN

Presumably he is divorcing her because of a conflict, so the reason he is setting

a date for the giving is because he intends to cause her pain, but not to appease
— 9593 YN 1N OUN 7990 TnnYT 1903 Yax

However by those cases mentioned later where he is leaving from there and he

is not by her in the same city -
— D90 79 JIN2 KIS NIV 1UN 1T ¥257) CHRNN XYY 19195 HNAIVY NXHNON

Presumably his intent is for her benefit that she should not be an X1y, and
that is why he is setting a time for the divorce, in those cases we are concerned
that he will come within the allotted time and he will be ®%%2nn -

:0NN DT PN 229 17%AN NVVP D22V NYWINN 1INV 1929 NP NI 9) D98N’ 99)
And in addition if he will be o»»n» there will be no »p since he is not

divorcing her because of a conflict, even ' will admit in those cases, that there is
the concern of 0”5 Rnw.

SUMMARY

There is the concern of 05 Xnw if the vA was not (completely) signed immediately
after the 72°n> (according to %"). If the vx was already signed then it depends if his
intent was 7Wwx5 like w%wnn then there is no concern of 0 Xnw, however if
™27 A (like 121 101 °nNR2 XY OR) then there is the concern of 05 Xnw. By 10
"7 1R there is no concern of 00 XKW because the 17w precedes him.

'3 See wrhwna 7"7 X, 'oIn. See “Thinking it over’ # 2.
'® The reason the husband is not giving her the vx immediately (even though they are both in the same city) is
because the husband wants to avenge himself for the difficulty she caused him and exact his retribution by making
her wait for the va.
17 The cases of 1107275 Xv* 7727 X137 and w7Im 2" 70 1827 NR2 RY OX.
' The husband is leaving the city and he is concerned that he may not return and his wife will remain an 7¥ (a
woman who cannot [re]Jmarry because her marital status is unclear), therefore he instructs the n°>w not to give her
the V3 immediately only after a certain amount of time (for he hopes that he will return within the allotted time).
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THINKING IT OVER

1. It seems that by "1 XA YA even MODIN agrees that we are not WY for
o™d Xnw, since the Y¥a presumes *1m7p mowi."” However according to mooin that
0™ KXW means that the husband may be Svan the 3,2 s0 how is that averted by the
argument of “17p Xnaw?!*'

2. It appears from Mmoo that we are not wwn for 01°9 by WNWRY V3 WHwnn only in a
case where he is ¥ v, not otherwise.** Previously™ no1n mentioned that when
"9 stated that wSwn is in a case where the husband 12777 %73, so nN1©OIN
comments that 12 w°0 01172); however according to our NMOIN it is not merely 1IN
19 "9, but rather we must be discussing only a case where he is 2 Ty !**

Summary of the cases

=} oD NBAR axny
TION1 TN WIRY INYTA 03 R ARARS 1T VAP YA InY PR
1R 1w TPWIT RY | AT VAR XYY 1ANM YA 7Y K
TIDNR VR WIA? YT 03 W XD 0212 NM °Ya Ry
1T Yap RS AR — ouup 5"31 9" npYonn [2912] vanm kDY °va oy

% See footnote # 11. See however 7™ "7 in X2 7"7N in the Y21 0™ Xnw "7, that 'on disagrees with this
explanation of *"w.
2 See footnote #1.
21 See [TxA] X"wmn and »'m.
2 See footnote # 15.
2 wwnn a7 ], 7.
# See (TrXA) R"wIAN.
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